MOS+ - Brochure Typical 2B | Three H Furniture - CDN

22-Jan-24



508041-2

MOS+ - Brochure Typical 2B | Three H Furniture - CDN

22-Jan-24

QTY	PART NUMBER	CATEGORY	FINISH OPTIONS		LIST	EXT LIST
4	MPAD4-2 MultiStations-Plus, Accessory Data Clip, 4 port data clip. 2 data.	Accessory	-		\$280	\$1,120
4	MPCA241822BOO00-2 MultiStations-Plus, Open cabinet with shelf, 24 in. W. 18 in. D. 22 in. H. Leveler Adjustable shelf. Back panel lowered 6 in. Standard laminate body.	Cabinet base.	BODY-Bleached Oak - -	- - -	\$530	\$2,120
4	MPCF361822BCH00-1122 MultiStations-Plus, Box File Cabinet, 36 in. W. 18 in. D. 22 in. H. Leveler base. Fi combo. Standard pull. Lock. Standard laminate body. Standard laminate. fronts		BODY-Bleached Oak FRONT-Bleached Oak PULL-Neo 96 -	- - -	\$1,275	\$5,100
2	MPDB6624NLNL-SEW2S022 MultiStations Plus Desk, Rectangular, Spine power., 66 x 24 in. D. Suspended on p Suspended on panels, right. 1mm PVC edge and Grommet left corner. No center s Standard laminate top. Standard laminate body.	-	TOP-Bleached Oak POWDER-White - -	- - -	\$720	\$1,440
2	MPDB6624NLNL-SEW4S022 MultiStations Plus Desk, Rectangular, Spine power., 66 x 24 in. D. Suspended on p Suspended on panels, right. 1mm PVC edge and Grommet right corner. No center rail. Standard laminate top. Standard laminate body.		TOP-Bleached Oak POWDER-White - -	- - -	\$720	\$1,440
1	MPGA721414LL-20 MultiStations-Plus, Shared Storage, Open, 71-1/4 in. long. 14 in. deep. 14 in. high back. Standard laminate body. No fabric.	General S n. Laminate	BODY-Bleached Oak TOP-Bleached Oak POWDER-White -		\$1 <i>,</i> 520	\$1,520
2	MPJA19S MultiStations-Plus, Power Jumper, Straight, 19-1/4 in. Straight.	Jumper	- -	- -	\$150	\$300
1	MPJC15U MultiStations-Plus, Power Jumper, U shaped, 15-1/4 in. U shaped.	Jumper	-	-	\$145	\$145
4	MPJD24Z MultiStations-Plus, Power Jumper, Z shaped, 24-1/4 in.	Jumper	- - -		\$155	\$620

Three H cannot be held responsible for discrepancies or inaccuracies that arise due to faulty or incomplete information.

Please review all information and notes accurately.

					22-Jan-24
1	MPJ1072S Jumper	-	-	\$340	\$340
-	MultiStations-Plus, Power Infeed, 72 in. Standard Feed.	-	-		
		-	-		
		-	-		
1	MPMA304443433030L-SS30020 Main	BODY-Bleached Oak	-	\$555	\$555
	MultiStations-Plus, Main Starter, 30 L x 44 in. H. Side 1, 30h. main desk, 23h. 2nd desk. Side 30h. main desk, 23h. 2nd desk. 30d return, side 1. 30d return, side 2. Laminate panel.	2, -	-		
	Standard height connection, end 1. Standard height connection, end 2. Grommet, 21 h. No tackboard, side 1. No tackboard, side 2. Standard laminate body. No fabric.	-	-		
1	MPMD304443433030L-SS00020 Main	BODY-Bleached Oak	-	\$530	\$530
	MultiStations-Plus, Main End, 30 L x 44 in. H. Side 1, 30h. main desk, 23h. 2nd desk. Side 2,	-	-		
	30h. main desk, 23h. 2nd desk. 30d return, side 1. 30d return, side 2. Laminate panel. Standard height connection, end 1. Standard height connection, end 2. No grommet. No	-	-		
	tackboard, side 1. No tackboard, side 2. Standard leight connection, end 2. No gronniet. No	-	-		
2	MPOA041 Outlet	-	-	\$45	\$90
	MultiStations-Plus, Duplex Power Outlet, 4 in. long, black. Duplex 1.	-	-		
		-	-		
2	MPOA042 Outlet		-	\$45	\$90
2	MultiStations-Plus, Duplex Power Outlet, 4 in. long, black. Duplex 2.	-	-	φ io	çso
		-	-		
		-	-		
4	MPOA044 Outlet	-	-	\$45	\$180
	MultiStations-Plus, Duplex Power Outlet, 4 in. long, black. Duplex 4 (isolated ground).	-	-		
		-	-		
2	MPRA3644302324L-S00B22 Runoff	BODY-Bleached Oak	-	\$735	\$1,470
	MultiStations-Plus, Runoff Right T, 36 L x 44 in. H. Desk, 30H. Return, 23H, 24 in. D. Laminate	e PANEL FABRIC-Anchorage Angora	-		
	panel style. Standard height connection, connect 1, No connection, connect 2. No grommet. 14h tack board,. Standard laminate body. Grade 2 fabric.		-		
	· · · ·		-	ĊZOF	¢1 470
2	MPRB3644302324L-0S0B22 Runoff	BODY-Bleached Oak PANEL FABRIC-Anchorage Angora	-	\$735	\$1,470
	MultiStations-Plus, Runoff Left T, 36 L x 44 in. H. Desk, 30H. Return, 23H, 24 in. D. Laminate panel style. No connection, connect 1, standard height connection, connect 2. No grommet.		-		
	14h tack board,. Standard laminate body. Grade 2 fabric.	-	-		
2	MPSE36442323L-SS00020 Spine	BODY-Bleached Oak	-	\$480	\$960
	MultiStations-Plus, Spine Starter, 36 L x 44 in. H. Desk side 1, 23H. Desk side 2, 23H.	-	-		
	Laminate panel. Standard height connection, end 1. Standard height connection, end 2. No grommet. No tackboard, side 1. No tackboard, side 2. Standard laminate body. No fabric.	-	-		
	grommer, no tackboard, side 1. no tackboard, side 2. Standard laminate body. No labric.	-	-		

Three H cannot be held responsible for discrepancies or inaccuracies that arise due to faulty or incomplete information. Please review all information and notes accurately.

22-Jan-24

MOS+ - Brochure Typical 2B | Three H Furniture - CDN

MultiStations Plus Desk, Power Peninsula, 72 x 30 in. D. Extended Left. Workshelf End.				
wurdstations mus besk, nower nemisura, 72 x 50 m. D. Extended Left. Workshell End.	POWDER-White	-		
Slanted Wood post. No support. 1mm PVC edge and Flush Mount Power. No Stiffener.	-	-		
Standard laminate top. Standard laminate body. Standard laminate.modsety grade.	-	-		
MPDM7230RWWS0000-SEF202220 Des	k TOP-Bleached Oak	-	\$1,820	\$3,640
MultiStations Plus Desk, Power Peninsula, 72 x 30 in. D. Extended Right. Workshelf End. Slanted Wood post. No support. 1mm PVC edge and Flush Mount Power. No Stiffener.	d. POWDER-White	-		
	-	-		
Standard laminate top. Standard laminate body. Standard laminate.modsety grade.	-	-		

NOTES TO REVIEW

MOS+ - Brochure Typical 2B | Three H Furniture - CDN

22-Jan-24

